

12/20/2019 09:00 AM | Install 12/21/2019 05:00 AM | Strike 12/21/2019 09:00 AM | Install Day 2

PO: Shipping Address: Hotel Bel Air 701 Stone Canyon Road Los Angeles, CA 90077 KED & Co.

Invoice Date:

Due Date: Upon Receipt

Salesperson: Matias Doorn

Description		Qtty	Price		Total
Cocktail Hour					
	Custom Made Signs CANDY Sign	3	\$800.00	Т	\$2,400.00
	1- entry sign that says To: bbscf Love, Santa				
	1- Seating card sign An Ornament For You To Keep, Use It Now To Find Your Seat				
	1- Candy shop sign CANDY and SWEETS				
	Custom Gift Box Entrance Way Metal structure frame with: oversized bow,	1	\$9,500.00	Т	\$9,500.00
	mirrored crystals on inside & outside walls (no ceiling),				
	framed front arch entrance with crystals				
	2- 30'W x 12'H red sheer chiffon fabric				
	Draping/Pullbacks for main door entrance 25'W x 10'H	1	\$700.00	Т	\$700.00
	red velvet				
	Panels - Red Tufted Velvet with hooks for seating cards 4'W x 8'H	2	\$600.00	Т	\$1,200.00
(0)	Holidays - Christmas - Ball Ornaments 16 hung in awning,	60	\$3.00	Т	\$180.00
piesus :	fishing wire				
Féto 93 pieus	Holidays - Christmas - Ball Ornaments 17 hung in awning	93	\$3.00	Т	\$279.00
Opin .	fishing wire				
	Holidays - Christmas - Ball Ornaments 20 hung in awning	122	\$3.00	Т	\$366.00
59 भेरा	fishing wire				
THE PARTY OF THE P	Oversize Props - Tuscany - Fire Place painted white 60" X 30" X 12'H	1	\$1,600.00	T	\$1,600.00

Description		Qtty	Price		Total
	Tiffany Panels with Niche *with shelves	2	\$550.00	Т	\$1,100.00
	painted white and red placed on the sides of fire place				
	Custom Candy Shop U- Shape 1 panel 8'W x 12'H with shelves 2 panels with niche 4'W x 12'H white and red	1	\$1,700.00	Т	\$1,700.00
	Club & Lounge Chairs - Prague - Club Chair Red Velvet santa's thrown for the fireplace area 34"W x 38"L x 43"H	1	\$270.00	T	\$270.00
	Sofas - Ibiza - Half Moon red suede cover 98"W x 40"L x 30"H	3	\$480.00	T	\$1,440.00
	Coffee Table - Balenciaga - White 44"W x 23"L x 17"H	3	\$220.00	T	\$660.00
	Accent Table - Madrid - Astrew Marble Top 16.6"W x 16.5"L x 21"H	2	\$150.00	T	\$300.00
	Ottomans - Standard Pod 18" Round custom covers	10	\$60.00	Т	\$600.00
	18"RND x 17"H - Cover Color Upon Request				
	Custom Accent Pillows	12	\$30.00	Т	\$360.00
	Buffets & Display Tables - Boston - Buffet White 8' *food stations white with red molding 8'W x 31"L x 30"H	2	\$650.00	T	\$1,300.00
	Custom Chair made with Oversize Teddy bear	1	\$880.00	Т	\$880.00
	Communal Tables - Washington - Chrome 96"W x 24"L x 42"H	2	\$300.00	T	\$600.00
	Barstool - New York - Chrome 9-L 9-R 17"W x 16"L x 47"H - Seat Height 30"	18	\$45.00	T	\$810.00
			Total Cocktail Hour		\$26,245.00
Ballroom					
	Perimeter Draping - Red Velvet 300' x varying heights	1	\$5,100.00	Т	\$5,100.00
	Stage Backdrop: Red Sequins Fabric u- shape	1	\$1,500.00	Т	\$1,500.00

Description		Qtty	Price		Total
	Custom Santa's Workshop 28' x 10' x 10'H 1- 28' x 10'H back wall 2- 10'W x 10'H side walls, 1- 28' x 10' roof,	1	\$23,000.00	Т	\$23,000.00
	outside color painted red, with oversize bow				
	inside - wall paper TBD				
	1- window 80" screen 1- window for "dispatch" with slide				
	Items Inside Work shop includes 1 white desk and 1 white santa's chair,	1	\$0.00	Т	\$0.00
	2 white corner desks				
	6- custom art work/blueprint 6- shelves				
	Dining Table - Tuscany - Wood 8' white table with custom red decal stripes 8'W x 48"L x 30"H	8	\$950.00	T	\$7,600.00
	Dining Chair - Monaco - All White 17âN M âN XXXIII M âN XX 38âN M âN NIEAT DIMENSIONS 18âN M âN N X19âN M '	77	\$35.00	T	\$2,695.00
	Oversize gift prop gift boxes with ribbons varying sizes, XL,L, M, S	1	\$4,500.00	T	\$4,500.00
	PRICE TBD (APPROX)				
	Custom Half Round Christmas Trees made with metal frame, red ribbons & gold accents	6	\$950.00	Т	\$5,700.00
	Custom Christmas Tree With Metal Pipes with Lights approx dimensions	1	\$3,500.00	Т	\$3,500.00
	9'H 48 pipes with lights on each end				
	Serving & Display Carts - Madrid - Serving Cart for hot chocolate 44âN M âN XXVI âN N âN X 36âN M âN N H	1	\$350.00	Т	\$350.00
			Total Ballroom		\$53,945.00
additions					
7	Communal Tables - Munich - Chrome check-in 60"W x 22"L x 42"H	1	\$300.00	Т	\$300.00
	white saggy rugs (under Cocktails vignettes)	3	\$160.00	Т	\$480.00
	Santas Desk and Chair (Painted all White)	1	\$350.00	Т	\$350.00
	Custom Made	1	\$450.00	Т	\$450.00
			Total additions		\$1,580.00
Services					

Description	Qtty	Price	Total
Install 2 Days	12	\$950.00	\$11,400.00
Strike	12	\$500.00	\$6,000.00
Trucks	5	\$480.00	\$2,400.00
Flameproof Certificate	1	\$800.00	\$800.00
Design Fee/Diagram/Designers on site / Misc.	1	\$1,000.00	\$1,000.00
Delivery Thursday	4	\$250.00	\$1,000.00
Delivery and Pick up - tree	300	\$0.00	\$0.00
Please make checks payable to Revelry, Inc.		Total Products:	\$81,770.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:		\$22,600.00 \$0.00
Please ready the contract and sign it		Wear & Tear (0%): Packing (0%):	\$0.00
Notes	Taxes:		\$7,768.15

(\$0.00)

\$0.00

\$112,138.15

(\$112,138.15)

Discounts: Total:

Payments:

Balance: